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O O
:Fck=24N/mm?  h=250mm SD295A D13ctc196.3(d=50mm)
0o 0o :Fck=36N/mm*> h=250mm
oo 0.12m%/s SD295A D13ctc250(d=50 40mm)
6 0. 201/ ceee” SD295A D138250
149 0Oha :fck=30N/mm*> h=600 650mm
101..0ha SD295A D25ctc@125(d=60mm)
250.0ha 16 3 23 SD295A D25ctc@250(d=160mm)
PC 1ST21.8 ©35 34
D=2,175mm H=4,484mm( PC ¢ 26 @ 38 L=11050mm n=172
2 @ 350 DCIP CREST=359.05m
D=24.5m H=11.10 £=250mm @ 500 DCIP FH=347.15m
° :3,200x 2,900 @ 500 @ 80
£=600mn T=500mn © 250 STW370( ) CREST=359.10m @ 200 STW290 FH=346.86m
ON-OF | ON-OFF 2@ 200
| [ ]
| | L] |
2 ] PHC | RC  sC
@450 A L=11.0m( ) 64
HWL 359.25m 1 ON 358.50m ]
FWL 359.05m 2 ON 358.30m [ ]
LWL 349.00m 1 OFF 359.05m [ ]
348.85m 2 OFF 358.85m [ ]
S5400 H11.03 |FP
4,403.7 | 4422.0 1,650mm H10.03
24.0 47.1 (H=200+900) H09.01
240.0| 259.3 H13.02
() 4,467.9 | 4,728.4 ® 900 ( ) H09.06 ()
0 900 1,200 H14.03
FRP- ( H14.03
) +
HO4.10
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NO.120+17.480

1.1
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1.1
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1.2

oo p1-2 v
oo p1-2 v
0.121%/s P1-2 v
P1-2 v
(ha)
00 70.0 79.0 149.0 P1-1 v
00 36.0 65.0 101.0
106.0 144.0 250.0
(kg/cnt) (1/min)
30 2.5 4.8x 3.2 32.0
30 2.5 4.8x 3.2 32.0 P1-1 v
30 2.5 4.8x 3.2 32.0
25 1.5 3.2x 2.4 11.6
0.20n*/s P1-2 v
3.68mm 3.0mm P1-2 v
14 14 P1-2 v
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p2-1

p2-1

p2-1

p2-1

p2-1
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1.4

] P P36 PL v
o = O CZ =0.85 PL v
o = O P1 v
Cs=0.45 P1 v
T=0.065 P1 v
Kn1=0.17 ( Kn01=0.2) o1 v
Kn1=0.27 ( Kn01=0.7)
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1.9

v
(@]
L] O O | %
24.5m FP P26 P2-5 v
10.85m FP P26 P2-5 v
4726.5m°C> 4467 .9m°) FP P19 p2-2 v
PC FP P6 p2-7 v
EL1 359.70m
HWL 359.25m
FWL 359.05m
LWL 349.00m
EL2 348.85m
No.1 359. 05 FP P26 P2-5 v
No.2 358.85m
No.1 358.50m
No.2 358.30m
WL 348.4m
o 0o «C 3 p2-4 v
O [ ] O P544 P6-3
Ra =2 (Ru-Ws) —Ws +W P33 |P6-3 v
n
O O P544 P6-1 v
P544 P6-3 v
O O P544 P6-3 v
O [ ] P544 P6-3 v
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1.10

5S400 SUS304 FP P195 P3-1 v
FRP SUS316 FP P195 P3-1 v
FP P195 P3-1 v

+ FP P195 P3-1 v

1,650mm( 60cm FP P195 P3-1 v
1,100mm(200+900) FP P195 P3-1 v
@ 900 FP P195 P3-1 v
900x 1,200 FP P195 P3-1 v
FP P195 P3-1 v
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(o P168 | P5-2
( P168 | P5-2
P168 | P5-2
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2.3

¢ 350 DCIP P PIS P4 v
0w P PIS P4 v
0w P PIS P4 v
=359.05m P Pl P4 v
_ FH=sar. i P Pl P4-1 v
®500 DCIP P PlOL P4-1 v
m O @50 P PlOL P4-1 v
" O ©800 SGPII P PlOL P4-1 v
® 250 STWR70
020 STIZeO P PlOL P4-1 v
¢ 200 STW290 " O P PIo3 P4-1 v
® 200 P PIo3 P4-1 v

14-5-14




2.4 1/2
HWL=359..25m FP P27 P2-5
PWL=359.05m FP P27 P2-5
B O 0.5kN/n? FP P44 P7-1
B O 6. 18kN/m( /2 1.0 kN/n? oo o7
) FP P46

10.0  KkN/n? FP P45 p7-1
O = FP P101 P7-1
O = FP P100 P7-1

23.0 kN/m?

24.5 KN/m?
24.5 K\N/n? FP P44 p7-1

21.0 kN/m?
22.5 kN/m?

9.8 KN/t P1-3
15.14 KN/n? FP P46 p7-1
©=0 FP P46 p7-1
C=31KN/n? FP P46 p7-1
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Fck=36N/mn*  ( FP P246 P7-1
Fck=24N/mn*  ( FP P246 P7-1
Fck=30N/mPm  ( FP P132,246 |P7-1
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00 P321 v

P51 P7-1 v

P7-1 v

| . | . | O | O p7-1 Vv

O O P7-1 v

O n O P7-1 v

O O P37 P7-1 v

u O P51 P7-1 v

u O P7-1 v

O n O O P7-1 v

P7-1 v

O O O n O P7-1 v

] ] ] P7-1 v

P P183 P7-1 v

u ©450 @500 @600 @ 700 P51 P6-3 v

O

u O m 0O P P183 P7-1 v
O t= mm

O O P6-3 v

14-5-17




2.6

172

= O FP P109 p7-1
1.0N/m2  FP P183 -4.6.6 P7-1
= ) 13.1 N/mr? P49 -3.6.8
= ( ) 10.0 N/m P49 -3.6.8 FP P49 p7-1 Eilo P108
= ( ) 10.0 N/m P49 -3.6.8
= ( ) 10.0%1.5=15.00 N/mi?
FP P49 -3.6.8 P51 -3.6.14
= ( ) -2.38 N/m?
FP P52 -3.6.15 671 FP P108
= ( ) 10.0%1.5=15.00 N/mi? P110
FP P49 -3.6.8 P51 -3.6.14
= ( ) -2.38 N/m?
FP P52 -3.6.15
Rd(
FP P41 Rd  30% Pr-1 FP P108
O n FP P100 p7-1
O n FP P101 p7-1
O n FP P103 p7-1
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2.6

2/2

n ( ) 0.00 N/mn? P50 -3.6.9
. ( Yy -0.72 WP b 369 P P109 P7-1 P P11
n ) 13.6 N/m PAY -3.6.8
) -1.38 N/m? P50 -3.6.9
. ( ) 13.8 N/mr PAY -3.6.8 o7.1 FP P111
( ) 0.0 N/mf? P50 -3.6.9 P112
n ( ) 13.8 N/m? PAY -3.6.8
( ) ~0.72 N/mt P50 -3.6.9
n ( ) 13.8*1.5=20.70 N/m?
FP PA9 -3.6.8 P51 -3.6.14
n ( ) -2.38 N/mf
FP P52 -3.6.15 o7.1 FP P111
n ( ) 13.8*1.5=20.70 N/m? P112
FP PA9 -3.6.8 P51 -3.6.14
n ( ) -2.38 N/mf
FP P52 -3.6.15
Rd(
- P7-1 P P11
O . P P100 P7-1
O . P P10L P7-1
O . P P103 P7-1
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PC

m 0K ONO P7-1 v
m 0K ONO P7-1 v
m 0K ONO P7-1 v
m 0K ONO P7-1 v
m 0K ONO P7-1 v
m 0K ONO P7-1 v
m 0K ONO P7-1 v
m 0K ONO P7-1 v
m 0K ONO P7-1 v
m 0K ONO P7-1 v
m 0K ONO P7-1 v
m 0K ONO P7-1 v
m 0K ONO P7-1 v
m 0K ONO P7-1 v
m 0K ONO P7-1 v
m 0K ONO
m 0K ONO
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PC

= OKO NO

= OKO NO

= OKO NO

P7-1

= OKO NO

P7-1

= OKO NO

P7-1

= OKO NO

= OKO NO

= OKO NO

= OKO NO
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PC

= OKO NO

= OKO NO

= OKO NO
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= OKO NO

= OKO NO

= OKO NO

= OKO NO

P9-1
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= OKO NO

P9

COKOINO |

= OKO NO

P9

= OKO NO

P9

ooano [ ]

= OKO NO
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O OKm NO

= OKO NO

= OKO NO

= OKO NO

14-5-25




